
  DAME
+ DAME
+ DAME
+ DAME
 ̶ ̶ ̶ ̶ ̶ ̶ ̶
 CARRE

      DONALD   
    + GERALD    
    ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
      ROBERT     Indice  : D=5

 RE + MI = FA
 DO + SI = MI
 LA + SI = SOL

Les trois égalités doivent coïncider simultanément.

     SUISSE   
   +  SUEDE   
   ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
     BRESIL 

   LIONNE
 +  TIGRE
  ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶
   TIGRON

    HUIT 
  + HUIT
  ̶ ̶ ̶ ̶ ̶ ̶ ̶  
   SEIZE

       SIX 
    × CINQ
     ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
     TRENTE 

   FORTY
 +   TEN    « 40 + 10 + 10 = 60 »

 +   TEN  
    ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶

   SIXTY

  ROUGE 
+ GORGE
 ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
 OISEAU

     CROSS 
   + ROADS
    ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
    DANGER

  LECON 
+ ELEVE
 ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
 DEVOIR

   SATURN 
 + URANUS
  ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶
  PLANETS

  

     CHEVAL 
    + VACHE
    ̶ ̶ ̶ ̶ ̶ ̶ ̶ ̶ 
     OISEAU 

CUARTO + CUARTO + CUARTO
+ CUARTO + CUARTO = VEINTE

« 4 + 4 + 4 + 4 + 4 = 20 »

deux 
solutions

deux 
solutions


